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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max= 8.95977e-06, Min=-1.04721

TF SS and OoPM, Top_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 8.9597749e-06, Min=-1.0472139
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= Shot: 2767, Param. Tree 72 3
E IDL: Max= 1.40421e-05, Min= -1.04960 3
= TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.) =
E DCPS: Max= 1.4042145¢-05, Min= -1.0495969 =
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max=0.0979713, Min=-1.10469e-05

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max=0.097971309, Min=-1.1046894e-05
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E_IDL: Max= 0.0976267, Min=-7.28513e-06

g TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.)
= DCPS: Max= 0.097626782, Min= -7.2851300e-06
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max= 0.0975444, Min= -7.55431e-06

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 0.097544394, Min= -7.5543092e-06
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max=0.000234860, Min=-0.0367051

TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 0.00023485963, Min=-0.036705096
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max= 0.000244539, Min=-0.0368005

TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., circ.)
DCPS: Max= 0.00024453955, Min=-0.036800470
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max=0.000258412, Min=-0.0369371

TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 0.00025841145, Min=-0.036937146
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Fault Ends: 0.33368796 7]
- TF Torques -
| Shot: 2767, Param. Tree 72 |
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max=51.1871, Min=-30653.1

TF SS and OoPM, Half_OoPM (normal, circular)

11

DCPS: Max=51.187114, Min= -30653.126
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E Shot: 2767, Param. Tree 72 =
E IDL: Max= 16.3893, Min=-30181.3 §
E TF SS and OoPM, Half_OoPM (post. dis., circ.) 3
= DCPS: Max= 16.389272, Min=-30181.296 3
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TF Torques

Shot: 2767, Param. Tree 72

IDL: Max= 15.6257, Min=-30158.1

TF SS and OoPM, Half _OoPM (post. dis., shaped.)
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DCPS: Max= 15.625727, Min=-30158.133
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= TF Torques =
= Shot: 2767, Param. Tree 72 3
E IDL: Max= 8.99990, Min= -30975.5 3
E TF SS and OoPM, Lower Outer_ OpPM (normal, circular) i
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= TF Torques 3
= Shot: 2767, Param. Tree 72 =
= IDL: Max= 127.290, Min= -4372.31 =
E_TF SS and OoPM, Upper_Outer_OpPM (normal, circular) —g
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